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B & fog fAdw
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(wug - )
1. (a) Fill in the blanks (any five) (5)

Rt vl Y off X (€ iter)

(i) A deductive argument is one that is valid and has all true

premises.

T T gfe 9w B 2 W 3y 8 o e ai
STERATET ¥ B |

PTO.
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(i) Invalid argument has true premisesanda__ conclusion.

3y g & w FUR qE A frend S 2

(i) — term is always distributed in ‘A’ proposition.

ATRIEEH YT 93T A Bl 2 |
(iv) Obverse of ‘E’ proposition is

‘B asaed s WREfdasw e |

(v) The —_____ of asyllogism is determined by the position of the
middle term in its premises.

R g o PR snuraeal § wem we A Rafy &
FuR R TR wiwar 21

(vi) A syllogism with a particular conclusion cannot have two

premises.
Ferendt et arel =rgfea @ O suRaeT S8 B 9 |
(vii) In—____ the subject and predicate terms are interchanged.
¥ 7w T Ay | @ RadT wQ T
(b) State whether the following are true or false (any five) : 5

frfofaa ¥ & =7 ¥ o @ s ) (RIS )

(1) In ‘I’ proposition both subject and predicate terms are undistributed.

‘I dhard & oW IR fady U soww B
(1) ‘But’is a conclusion indicator.
‘Al W v e ﬁ??ma? 21
(i) ‘Some S is P’ is the contfadictory of ‘No S is P’.

‘Fo TS 2, ‘B W v a2 @ R 2
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(iv) A valid syllogism will always distribute the middle term in at least one

premise.

T du gl e UT @l [ o STuRaray X 939 e o #

(v) The contrary form ‘All flowers are beautiful’ is ‘Some flowers are
beautiful’.

T ww R ¥ A W w w R 2

(vi) In contradictory relation both the propositions are qualitatively and

quantitatively different.

e v ¥ A qard qoneTER T IRAToTE ¥ @ T 2

(vii) Figure and mood together determine the form of the categorical

syllogism.

G qW JTen v ar Feaiis <mgfa SR @ Rk w5 €

(c) Give brief answers to the following questions: (any ten) : (20)
‘ | Pt @ dfore 3w ¥ (@E <) .
| (i) What is a proposition ?
‘ qaarr fFd wea € 7
(i) Whét is .quality of a proposition ?

T @ O A AT T G B 7

(i) What is conversion ?

qﬁaﬁwéﬁr%?

(iv) State the obverse of ‘Some doctors are teachers’.

‘T ey e B9 ¥ g@e wikafda w1 afw

PTO.
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(v) What do 'you understand by ‘immediate inference’ ?
‘SrerafEd IE A 9w w2 7

(vi) Reduce the following into their logical form :
o & afls ser AR .
(a) Only dishonest people are cowards.

el A AN FHE B B

(b) All lawyers are not judges.
Tq I ST T8 B

(vi)) What do you understand by the fallacy of illicit minor ?

FafE s e AN ¥ 9 T TE § 7

(viit) State the rules of obversion.

afdaaT & Faw saw |

(ix) What is contraposition ?

fcaRad o Brar @ 7

(x) What is the mood of a syllogism ?
agfea @it aear Y @ed € 7
(xi) What is the role of the middle term in a syllogism ?

TR ¥ e e i B @ 7

(xit) What is fallacy of four terms?

IR qhaY fhd wed B 7
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(xiii) Why does ‘O’ proposition distribute its predicate term ?

‘O’ daare U= AT 9T oY R oare wRar € 7

~

(xiv) Why ‘I’ proposition does not distribute any of its terms ?

T I AU Rl o 97 A S o S W !

(xv) Give an example of a syilogism which involves the fallacy of illicit

major.
&R ¥R ~ghe w1 Sew Afg @ At o v T A
B
2. Write notes on any three : (15)
foedl i\ W oot Gt :

() Existential Import

AE AT
(i) Traditional square of opposition
W fdy T
(iii) AAA is a valid mood only in 1st figure. Prove

firg RT % AAA Sad W R | a2

(iv) Relevance of logic

A I & TR

(v) Explain when A proposition is false why do E and I propositions remain

undetermined.

A adarEg Ak s ® @ E 3R [ ddaran sifRfiaa B € 1 e Sifae |

PTO.
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4.

6

(a) Arrange the following syllogism into standard form, name its Figure and
Mood. Also test its validity/ invalidity using the six rules, (any one) (6)

frafofan = mgfda = Sa@ wwe R | foiRae, Sudl IR 9E sEen
a9 o o @ W S ge Sae dumr/dduer o Fufor w0

(¥ )

(1) Some writers are not poets and some writers are not novelists.
Therefore, some poets are not novelists.

HS AE@E B T8 T IR HD A@F ITIEFR A8 T | WY FF B
ITEFR & 2 |

(i) All hermits are recluses and some recluses are forest dwellers, so

some hermits are forest dwellers.

Tl B #

(b) Test the validity/invalidity of the following (any two) : 4)

frafofaa & Aum/sduar w1 Qe ARe (@ @)

@) AEA-I
(i) OAIL-2
(iii)y EIA-3
(iv) IEO-4
SECTION B
(woE - )

(a) Identify and explain in brief the fallacies committed in the following

passages. (any five) : (10)
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frafoiaa T a9 TEwE @ IR s i | (@S di)

(1) Because I was wearing this dress on my birthday I got so many gifts.

This dress is very lucky for me.

iR A 95 I8 AW Tl W g5 N Al @ 3o AR e A 1 3w
34 W g wga g 2

(i) Accept what I say otherwise you will be punished.
A T IR AR ST AR I D e |

(iii) The accused is insane because he lacks sufficient mentality to be guilty

of a crime.

AT I B FAH IEN TR A/ T8 2

(iv) Since this cricket team is a good team, each of its players must,

therefore, be good.
e a8 fhde A9 v 3= T 2, Saa = Raond) et 2 4
(v) You must buy this watch because it is in fashion these days.

TR 75 U Jawd wlel afav Fh 98 TR BRI W 2

(vi) Mr. X should be given less punishment for killing a person because he

has to look after his ailing mother and a blind sister.

o S NN N P S S
TR A qur 3N d8T o @I HEN 2 |

(b) Write short notes on the following (any two) (10)

el W R fodt R (@ )

PTO.
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(1) Complex question

B EL

(i) Argument from Ignorance
TS ThAT

| (iii) False Cause

|

(200)
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